Al

BEHERBSHRERANEBA NS —H 1 [FRF]

BRI (u Sv/h)

BAEEFH(ARIE)

No. BIEISFr BIESZAT AlER BIERFZI Kz
HEMNS50cm | HERHASTmM

A EIE15 0.050 0.046 58208 9:15 (=5
BN TR =555

] = .

g 0.071 0.059 58208 9:07 3

A P9 /&3 0.040 0.037 5820H 10:38 s
BE/DNER

2 RBE 0.037 0.029 58208 10:42 i3

A |RERE FAE5D 0.043 0.037 5208 | 1054 s
HBOEHEZEY

3 M maz~) ]z 0.038 0.036 58208 | 1103 B

A P9 /&3 0.038 0.033 5820H 11:10 s
BHES RS HE

4 EE 0.043 0.031 5820 11:14 s

A AL 0.048 0.036 5H20H 11:25 =5
BEAREE

S JEaPuall:h 0.043 0.030 5820H 11:32 i

1/8




EATZERMGHEEERANEEBA AL —F 1 [FZKEF]) BEfI(u Sv/h)
. o SBIE {8 T (A FRAE)
No. B 5P JBI5E 5P AlER BIERFZI P
HEMNS50cm | HERHASTmM

B EIE15 0.056 0.049 58218 9:15 55|
EATRE DT

1 - ) -

e 0.058 0.062 58218 9:08 3]

B P9 /&3 0.042 0.033 5821H 11:43 55|
EAPER

2 RBE 0.043 0.042 58218 11:39 w®

B |mrmaza—5— 515 0.036 0.037 5H21H 11:25 3]
o h— _

3 5D E 0.037 0.036 58218 11:20 w®

B P9 /&3 0.044 0.038 5821H 10:58 55|
PR EA chpi

4 RBE 0.047 0.045 58218 11:03 5l

B P9 /&3 0.045 0.039 5821H 10:48 55|
BHER /MR

S RBE 0.037 0.029 58218 10:41 W

2/8




Al

BEHERBSHRERANEBA NS —H 1 [FRF]

BRI (u Sv/h)

BAEEFH(ARIE)

No. BIEISFr BIESZAT AlER BIERFZI Kz
HRMNS50cm | HRHANASTmM
o} EiEi5 0.051 0.045 58238 9:13 (=5
EATRE =555
] = .
e 0.057 0.055 58230 9:05 i
o] P& 0.045 0.035 5H23H 9:45 s
BHE B INER
2 RBE 0.039 0.043 58238 9:50 i3
250 . : &
o] ?ﬁﬁﬁﬁﬁmﬁ P& 0.041 0.038 5823H 10:07 iF5
S E
3 |*7 = 0.042 0.038 55230 10:01 B
C P /&3 0.043 0.042 58238 10:27 iE3
HRIEGE /NER
4 KBE 0.041 0.036 58230 10:31 =3
E4 . =
C lppabme Fa/E L 0.024 0.030 5H23H 10:49 rE
REE
5 |*F Bz 0.032 0.034 55230 10:42 B
E] 3 . E3
C EHOTET P9 &8 0.037 0.037 5823H 11:04 iF5
XEEA— .
6 ErE 15 0.032 0.031 5823H 10:57 i

3/8




Al

BEHERBSHRERANEBA NS —H 1 [FRF]

BRI (u Sv/h)

BAEEFH(ARIE)

No. BIEISFr BIE 5T HER BIERFZI Kz
HRMNS50cm | HRHANASTmM

D EIE15 0.059 0.045 58248 9:14 (=5
EAT&RT v

1 — .

R R 0.061 0.050 5H824H 9:06 i3

D REGEREMH P& 0.035 0.040 5H24H 10:40 s
MBEERITTHLSS

2 Moy |EEE 0.046 0.036 5H248 | 1045 %

D P& 0.029 0.034 5H24H 11:06 s
HMGA 2R

3 RBE 0.034 0.028 58248 11:00 i

D Fe /&3 0.040 0.043 5824H 11:20 s
HEGE S#E

4 E = 0.043 0.044 58248 11:14 i

D AL 0.047 0.046 58248 11:25 =5
HMGEARE

S JEaPuall:h 0.040 0.039 5824H 11:30 i

4/8




EATZERMGHEEERANEEBA AL —F 1 [FZKEF]) BEfI(u Sv/h)
BIEEF (A RIE)
BIE ST BIE 5T AlER BIERFZI
HRMNS50cm | HRHANASTmM
EIE15 0.050 0.042 58278 9:29
&
TRV
R 0.062 0.056 5H827H 9:21
P9 /&3 0.052 0.041 5827H 9:55
S S
&= 0.045 0.045 5827H 9:41
P& 0.049 0.048 5827H 10:00
YMREB
EE 0.041 0.035 5827H 9:47
Fe /&3 0.040 0.034 5H27H 10:15
SINERR
BEE 0.054 0.041 5827H 10:09
AL 0.044 0.045 582780 10:30
SRR REE
EDRE 0.047 0.042 582780 10:23

5/8




Al

BEHERBSHRERANEBA NS —H 1 [FRF]

BRI (u Sv/h)

BAEEFH(ARIE)

No. BIEISFr BIE 5T HER BIERFZI Kz
HRMNS50cm | HRHANASTmM
F EiE15 0.046 0.042 58288 9:14 £
BN TR =555
1 = . =
e 0.059 0.054 5828H 9:06 2
B ) : 2
F ERARHEOR P& 0.038 0.037 5H28H 10:27 =
, |REE -
&= 0.042 0.041 5828H 10:21 2
F P fE 2 0.041 0.038 58288 10:10 £
EAET
3 RBE 0.046 0.048 5H28H 10:03 )
F P &2 0.033 0.043 58288 9:40 £
HTDFINERR
4 RBE 0.036 0.036 5828H 9:35 )
F B0 0.038 0.036 5828H 9:46 2
HITOFNAREE
S [AinaE 0.046 0.039 58288 9:52 )

6/8




Al

BEHERBSHRERANEBA NS —H 1 [FRF]

BRI (u Sv/h)

BAEEFH(ARIE)

No. BIEISFr BIESZAT AlER BIERFZI Kz
HEMNS50cm | HERHASTmM

G EIE15 0.048 0.039 58308 9:12 (=5
EATRE =57

1 = .

e, 0.051 0.054 58308 9:05 i

G P9 /&3 0.042 0.036 5H30H 9:50 &
B EINER

2 RBE 0.036 0.036 58308 9:44 i3

G P9 /&3 0.036 0.030 5H30H 10:04 s
ETERBER

3 )= 0.040 0.033 58308 9:58 i

G AL 0.039 0.039 5H30H 10:21 =5
ETENREE

4 JES PR3 0.023 0.025 58308 10:11 i

G e /& 18 0.035 0.032 5830H 9:24 iF5
VEYEBHHE

5 B3]z

1/8




Al

BEHERBSHRERANEBA NS —H 1 [FRF]

BRI (u Sv/h)

BAEEFH(ARIE)

No. BIEISFr BIE 5T HER BIERFZI Kz
HRMNS50cm | HRHANASTmM

H EiEi5 0.051 0.039 58318 9:15 (=5
EAT&RT v

1 — .

R R 0.054 0.057 5831H 9:07 i3

H P9 /&3 0.026 0.024 5831H 11:38 s
HMECELE

2 E = 0.034 0.029 583180 11:32 i

H P9 /&3 0.044 0.042 5831H 11:25 s
BE A DR

3 RBE 0.034 0.030 58318 11:19 i

H P9 /&3 0.034 0.033 5831H 10:55 s
BE& /IR

4 RBE 0.032 0.032 58318 10:48 B

H AL 0.046 0.041 58318 11:08 =5
HEEAREE

S JEaPuall:h 0.037 0.030 5831H 11:02 i

H P9 &8 0.031 0.022 5831H 10:40 iE3
[ETh it 5 #E

6 &=

8/8




